FoxF pk AR

A8 69 52 36 2K Rk

o3&

LB KRR FHEECTAHEER

November 30, 2013






RRR==EESSBSBEBEESEESSESS
s
AR A KBIE,

q
7
N
G
=S



.
AT
AT E AR, AL ETH
o T =328



R
AFEE &
cAAXTIEE AR, KL T IR
o B2 398
o FAXT B VY Y X )T &



.,
AFEE K
AT E AR, KL E T
o B3
o FAXT IRV LA X A E 1) T &
ARFT IR H) S F . A F A AR AKX A



e
AFE R
AR IR AR RN FRIE, BT
o Bt = IR
o AT YA XA WL T =
 ABXT IR EN ) . S F R AR A X A
Y N2



=,
AFE A
AR IR AR RN FRIE, BT
o B 3 L
o AT YA XA WL T =
 ABXT IR EN ) . S F R AR A X A
Y N2
BEER:OE RN NG L & 951



teaching objectives




teaching objectives

o XL E AW YT X,



teaching objectives

o AN AW ¥ H T
o ABNFIS A9 52 I F Ak



teaching objectives

o AN AW ¥ H T
o ABNFIS A9 52 I F Ak



1LARAS & = £ LHF

7] B A

12 B AT TR R R R L,
W B EL 6938

AR ?

gg&



1ARXY & = £ 89 LH &

N F R RZ T BRI ZR R L,
W, 5% 3, 5 0 1B B AAE R ?

WRIEE F A AAL AL, B R
INEEE



1ARXY & = £ 89 LH &

N F R RZ T BRI ZR R L,
W, 5% 3, 5 0 1B B AAE R ?
WRIEE F A AAL AL, B R
INEEE
24 1 82E

V°E oy 0
F B A5 8 s AR B P AR R
c =1/\/mocg, H55F RERLRK!



1LARAS & = £ LHF

REIE B S BER, e R R iE 5
%m”ﬁ%% Ac, W ’T"J}ééj‘i']\ *‘ﬁf‘gggﬁ
EZ, Hoa® RN T R E B ST e AR
JCo



1AB%TE S A0 L H =

ZRRR B S HEA, e BB 5h iR B AR ST
FHE R FEZ A, MLkIF—5F A
R, HaR RS T AR B 84N 77 e AR

Hco CHBRRBIT—NHFLHE RO
B3R e, HmEiZ K GTA2E 30 R fe
STIZAFIR S B AR Lo



1486 Z A8 £ H =

HRBIE S, de RN IEFhk B AT
FE—HKER A, WL F—HLFER
BF, R BT AR BAS T AR

Hco VALK RRRBIT—NFEHAE R Y
1352 A c, = K T AL AL 2 AE
STiZAF A FE B R L, o B XAE, N
g —RBEASAE R FMNasiat ik
VA S D Bl O N Wy



1AB%TE S A0 L H =

RN 2B, e XN F) R EARST
FHE—BRFR N, ML F—HLFE
B, HAR AT AR &S ) AL

jL]Co %Eﬁ/ﬂiﬂﬁﬁ%ﬁ”/\%&f‘%?éﬁ
B3R e, HmEiZ K GTA2E 30 R fe
ﬁﬂ%%ﬁ%%&;oﬁ%%mgﬁ ol
) e — A E RSO
JR I A W BRI ?/L/Tﬁrﬁk,u

Bp, /1 FHAEAETFIIR M R XA AR
0, MmMEEFHINELETERME R F A L
NER:TE



1LARAS & = £ LHF

A2 EF I E R EIEE 5 049385 R E
REFG?



1AB%TE S A0 L H =

AL & BRSBTS 5 04 e i
REFG?
YL 3T R B AL ?



1ARXY & = £ 89 LH &

A4 E F AR R s IE 510438 % R 3E
Kiﬁ@7

22 3L W, BE IE 1 A ) AR 7
BRI — AR ?



1LARAS & = £ LHF

A4 & F e a g 50438 5 )8
REFH?

Y5 W, 2% PR S A B AL 7
BRI — AR ?

MG B AR AZ 3, AARTAF R0 AR,
AWEIHERE SR, HHC



1LARAS & = £ LHF

A4 & F e a g 50438 5 )8
REFH?

22 W BE IS A B AL ?
BRI — AR ?

MG B AR AZ 3, AARTAF R0 AR,
AWEIHERE SR, HHC

AT H, EWmE BRI,



1LARAS & = £ LHF

A4 & F e a g 50438 5 )8
REFH?

22 W BE IS A B AL ?
BRI — AR ?

HAG BN VA KBE A5 4, AaxT#F.E a9 A K,
KoIEFR R EEEBIE, ¥AC .,
T, EYE AR,

. B e R



1LARST & = £ 0 ) LR =

A4 E F AR R s IE 510438 % R 3E
RAETIR?

22 3L W, BE IE 1 A ) AR 7

B TR — VAR ?

MG B AR AZ 3, AARTAF R0 AR,
AWEIHERE SR, HHC

BT, AT AR,
 FLA R TR
ARG B E PR AL F), BREAY
7 % L L



2 AR X6 Y 52 5 K mh

A7 RIS—FEE
XE: HARSAH
a9 & A F BUAT

BMLEpARmE, —
FFEIM, ML A
HEEIM, BAEMA
Sk B4 T: 75—
MBI ZEM2

B RETEI M ik B

5T o




2 AR X6 Y 52 5 K mh

XEEM — M1 — M:



2 AR X6 Y 52 5 K mh

XEEM — M1 — M:
/ / 2cl ) V2

1 C—v+c+v (:2—v2 C( C2)
21/ V2
~ —(14+ —
c( C2)

XEEHM — M2 — M-



2 AR X6 Y 52 5 K mh

XEEM — M1 — M:
/ / 2cl ) V2

1 C—v+c+v (:2—v2 C( C2)
21/ V2
~ —(14+ —
c( C2)

XEEHM — M2 — M-

L 1+v2
T 2o 2 2c2




2 AR X6 Y 52 5 K mh

MR KA £
cAt ~ /V—

2

52 35 3% H 337 90° K, T R B T3 £ 4
I

2cAt 2/v

A N2
AR % R B ATT u&ﬁ}iﬁ*‘%/:\@l 0K A
A, A=5x10""m, (v/c)*~ 1078 F&
SN IZASFN0AE AL, MERINKE 6 L
[RAR 470.014™.




2 AR X6 Y 52 5 K mh

AR REB—ZFRERTWHSE R —
AR 8B, FRFALR R TR
rESH Z, NEEZSTIRHR, LA
W AT AR IS4 R E AR,

o LR IR b AL o R IR ke 4
Zc=3X 1O8m/s i L T e £ B
T 30 2857 (£ A





